R\Clients\Endura PERMANENT\B - Texas Dept of ins\TDI - DR-888 Masonite FG VG GLAZED (Trilennium)\C - Drawings\TX-4689-92.dwg, TX-4689

SRR ui
POWERED BY il o, |53
" p -
*.“"‘. = 3 § 3 & N
v/ AFEE W s b
*-‘," Oim RWHl 18, o3 3
g L7+ W e % Ll r4 " z
201 wiy ziXgwlus T af W-
. Bt ziC o'« sg £ oo 9
DOOR COMPONENTS MADE IN THE USA ~— 37.5"' MAX. O.A. FRAME WIDTH ——| U 8i FoINIEE ££3 08
e 12 & - 58, 6g
i > 7o po0 W
0 <& Zo b
Q‘h‘h{\x\iﬁx“" s 8RT ge
ox2 &
K ZR2° bu
= o]
& g.2 _©°
a =g¢ 8
2 RAdk g£F
[ ] § 8 5
L] [
Glazed Fiberglass Door Fv / PS5
/// 2 ©
<]
/ [a]
"NON-IMPACT" / .
=
INSWING / OUTSWING a S
L
$o o2 2
— - ; -
=2 3t = |, 28
<% %9 g |58
<2 I | X S ooy
c= =z Ly ol o
XE 00 g _a
< 6 ~N - 0l Y
b - X - < 6%
= w = [ | =
F © < O o A
EVALUATED FOR USE IN THE STATE OF TEXAS o x % a
The Glazed Fiberglass Door system described herein complies with the 2018
International Residential Code {IRC), Sections R301 & R609 and the 2018 ,/ g %
infernational Building Code {IBC}, Sections 1404.13, 1609, 1709.5, 2403 and 2404 // 5
subject to the following conditions: / S
/ O

1. Anchors shall be as listed and spaced as shown in the details. Anchor E : o
embedment to base material shall be beyond wall dressing or stucco. o %

2. When used in areas requiring wind-bome debris protection this product is 12 1»
required to be protected with an impact resistant covering that complies A ; (Z)
with Section R301.2.1.2 of the IRC and Section 1609.2 of the IBC. L glsl 5

3. Allowable design pressure requirements must be equal o or less than the Lg N 5
design pressure rating shown in the design pressure chart, sheet 1 of this 5 ol e
drawing. Sl

4. Conditions not covered by this drawing are subject to further engineering L P
analysis. ' : 2|3

<
2
} ]
}_
TABLE OF CONTENTS Q g
SHEET# DESCRIPTION = :
1 Typical elevations, design pressures & general notes X INSWING +60.0 -60.0 - 12
2 Door panel details DATE: 4 /27 /1 7
3 Horizontal & vertical cross sections X OUTSWING +60.0 -60.0 SCALE:  N.T.S.
4 Vertical cross sections P— 0K
5 Frame anchoring - S
CHK. BY:
DRAWING NO.:
TX-4689
SHEET _1 oF _ 5

© zo17 R.W. BUILDING CONSULTANTS INC.




R:\Clients\Endura PERMANENT\B - Texas Dept of ins\TDI - DR-888 Masonite FG VG GLAZED (Trilennium)\C - Drawings\TX-4689-92.dwg, 2.7

HINGE STILE LATCH STILE
(LAMINATED WOOD) (LAMINATED WOOD)
/ EXTERIOR 0.98" /
r y ¢
16— INTERIOR 163 —
WOOD LOCK BLOCK
12" LONG
71"\ HORIZONTAL CROSS SECTION ‘ ’
\2/
35.75" MAX.
PANEL WIDTH
. 2475'MAX _
D.L.O. WIDTH
5 — GLASS BITE 5/8"
—— 1" NOMINAL GLASS THK.
BACKBEDDING )
SEALANT \ 1/8" TEMPERED GLASS
// i ~_— AIRSPACE
m // X =
\ZJ /. Y ™ 1/0" ,
? 1/8" TEMPERED GLASS
[T
5 £ ALUM SPACER
w O
xI ]
g 3 GLAZING DETAIL
zZ O
< 3 X &1 )\ Fiush Glazing
5 ()
<C > =
= 3
8 3 SEE b
R , HARDWARE
_ TABLE -
a
/ -~
DOOR PANEL -
2
MASONITE
VistaGrande Flush Glazed ~
Fiberglass Door Panel
= TRILENNIUM
Endura Trilennium"3000 Serles SERIES 3000 MULTIPOINT
DOOR SKIN: FIBERGLASS (0.085" MIN. THICKNESS) Multipoint Lock (3pt.) LOCKING SYSTEM

CORE MATERIAL: POLYURETHANE FOAM (1.9 PCF MIN.)

TOP RAIL

(LAMINATED WOOD)

DOOR SKIN

\’»

INTERIOR

FOAM CORE

BOTIOM RAIL — |1

{COMP.)

;
b
*4

104123

&

%

3
LYNDON F. SCHMIDT

P
g
g
2
(s
%

kY

v

i
s

o !
cbt'? \ !Q\

A

$,

7!1

6‘\.

/0.28.79

7

Lyndon F. Schmidt, P.E,
TEXAS P.E. #104123

0.97"

EXTERIOR

0.91"

7“2\ VERTICAL CROSS SECTION

\2/

P.O. Box 230 Vairico FL. 33595

BUILDING CONSULTANTS, INC.
Phone No.: 813.659.9197

Documents Prepared By

TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

)

=

=<

i

< a

o vop amd

S e

BEE

& 2l
Lt
173}

e

2 S

£ o 8

(&)
8 o
i——
(@]

2 %
Q. Q.

Wl s

Wi i

UPDATE TO 2018 IBC/IRC CODE

10/24/19|ADD "FusionFrame” OPTION &

1

NOJ] DATE

REVISIONS

DATE: 4/27/17

SCALE:.  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—-4689

SHEET 2 OF 5

@ 2017 R.W. BUILDING DONSULTANTS INC.



R\Clients\Endura PERMANENT\B - Texas Dept of Ins\TD! - DR-888 Masonite FG VG GLAZED (Trilennium)\C - Drawings\TX-4689-92.dwg, 3.7

AW  ui
2 2X FRAMING 2X FRAMING SNy, =g
3 - (G >=0.42) (G >=0.42) e i 81,9 ) £3 Q.
./ B -~ Ao = oY, l(‘ £5 & ue
™ § AN NN/ Ex 2 uwo
> )14 OO ) i N ,oﬁ’,-" (:_)) e \;;-.%l & uj 23 §T
v T : %t b N
EXT. SHEATHING 114 o EXT. SHEATHING k/f|/ N 2‘»% wis £258 Sy 408 ;::
H S s » H o
| / \ e \ DRYWALL f | T DRYWALL o, Zim & §§ g 8a 33
A 1 i B IS NI ELR
/ il - ,, ‘ - R 515 FRR . BsE
oo #10X2:1/2 PFH ‘ |~ #10X3"PFH Wtaaiae™™ & OoNs §d
| ~ WOOD SCREW ik L WOOD SCREW 3 28% s,
1/4 MAX. * /11 8 255 g
SHIM SPACE ™__ o L PRt X
X 258 = 1/4" MAX. PRI :
RN N SsGE SHIM SPACE P g
s | 3 =
3/ i ~000000) 8
DOOR PANEL ~ | DOOR PANEL \
HEAD: PINE HEAD: "FusionFrame" (1-PIECE) 2
VA ENDURA WEATHERSTRIP ENDURA WEATHERSTRIP £2
' (QEBD/PE 650) 58
! (QEBD/PE 650) < S
e s Sy
\ g |
CORNER PADS b q EXTERIOR INTERIOR EXTERIOR W INTERIOR S 13 2,
VERTICAL CROSS SECTION . < NS
VN TNV VERTICAL CROSS SEC (3 VERTICAL CROSS SECTION TERLE
: dlso approved \3/ O'utswmg sho(\gln inswing =} T
'__
) W I
ol -
0.15" Ll &
]/4" MAX. I CISINK ]/ ! MAX. L[Sl
EXT.SHEATHING ~ SHIMSPACE (TYP.) SHIM SPACE EXT. SHEATHING S
JAMB: "FusionFrame >0
078" = 075 R - 075 \ [ (1 OR 2-PIECE) / : §
— T ———————— = S|&| v
e o S o Sy Sy //#]OXZ]/Q"PFH #lOXZ-]/Q"PFH\ e e e A A ol %
COMPOSITE 2X FRAMING ) WOOD SCREW WOOD SCREW 2 2
- = >
N SNAP-ON (G>=0.42) 2X FRAMING Lo @
CAP ENDURA WEATHERSTRIP  ENDURA WEATHERSTRIP (G 5= 0.42) S
N (QEBD/PE 450) (QEBD/PE 650) / EE
. B [
3 "U‘L EXTERIOR 3l5
: <C
2 0y >
[ > Ly
! = v N = S| 8
DJ T / \ - |2
ONTE: 4/27/17
R IR F N SR —— 125" = DRYWALL/ / \ . INTERIOR ™ DRYWALL SCAE N.T.S.
#8X 2-1/2" PFH WOOD SCREW #8 X 1" PFH SMS owe o UK
JAMB / HEAD JAMB / HEAD JAMB £ HINGE MULITPOINT #10 X 2-1/2" PFH cHk. 8 LFS
PINE "FusionFrame" “FusionFrame" #8 X 3/4" PFH SMS STRIKE PLATE WOOD SCREW DRAWING NO-
(1-PIECE) (2-PIECE) /1" HORIZONTAL CROSS SECTION TX—4689
» w Inswing shown - Outswing also approved E =
SHEET _3 oF 5

© 2017 R.W. BUILDING CONSULTANTS INGC.




R:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-888 Masonite FG VG GLAZED (Trilennium)\C - Drawings\TX-4689-92.dwg, 4.7

L\ A\ W,
INTERIOR EXTERIOR INTERIOR EXTERIOR NDURA P - .
s g he] o o
|~ DOORPANEL DOOR PANEL WEATHERSTRIP // DOOR PANEL is EX g2 lg
INTERIOR EXTERIOR T Sy OB B-
ENDURA (QEBD/PE 650) EXTERIOR ” z fu ¢B &%
ENDURA \ ENDURA 2 ot 2o gl
DOOR SWEEP WEATHERSTRIP,  INTERIOR EXTERIOR W : 9 AT %
(DBK-R) DOOR SWEEP : . 55 232 3
: (QEBD/PE 650) Z : 3 8 33
(DBK-ZAC) ¥k SiG i X |57 L8 %E
AL % ™ >m
3 ‘:’o‘:’e‘l:’ ea,, S 2 . h- - i
A\ / \ iy x> &\ . &8%® g9
- .- [L]
[ Q“gq ' DOOR Myyiandee™ & %5 o¥
WG Hr__ I“l ' PANEL 3 zad, 6y
- ! ‘ ) o g4 . £
“ M T | Po3ui g
. = . TR & <J : ) 2 : § 8 é
) e , R :
‘. i ' ; & F
7 X g 8
#10 X 2-1/2" PEH WOOD SCREW OR #10 X 2-1/2" PFH WOOD SCREW OR #10 X 2-1/2" PFH WOOD SCREW OR #10 X 2-1/2" PEH WOOD SCREW OR 2
1/4"X 2-3/4" ELCO OR ITW CONCRETE SCREW 1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW 1/4"X 2-3/4" ELCO OR ITW CONCRETE SCREW 1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW S
Lt
/ 1"\ VERTICAL CROSS SECTION / 2"\ VERTICAL CROSS SECTION /3 "\ VERTICAL CROSS SECTION /ﬁ\ gEfRTl_CABL CROSS SECTION - &
: : 7 Sulan ; utswing Bump Thresho 0
w Inswing Adjustable Threshold \_4_/ Tnswing Arficulafing Threshold w Outswing Bump Threshold \4/ g § 5 8
= o X
(¥3] = ©
w -—J
g 3
.e :
- I
» ‘ N 2 |2
% :i'% = :‘f) o o
b — -
" i ﬂ ii € &
AR = ‘ * W
| 456" ! 4.56" 4.56" ! | 456" | . S
1) INSWING ADJUSTABLE THRESHOLD 2"\ INSWING ADJUSTABLE THRESHOLD 3 ) INSWING ADJUSTABLE THRESHOLD 2"\ INSWING ADJUSTABLE THRESHOLD 5 \INSWING ADJUSTABLE THRESHOLD >l
ZAIL4565 ZAI4565FN ZAILAA4565 ZAIAA4565FN ZAI4565RDS g %
3|8 9
_— ‘o|@] O
| ! § 58| 2
3 2 o SRl |
S~
Q
| 4.56" ! | 456" | 456" - | 456" | =l
[¢)
INSWING ARTICULATING THRESHOLD 7\ INSWING ARTICULATING THRESHOLD 3 )INSWING ARTICULATING THRESHOLD 9"} INSWING ARTICULATING THRESHOLD 10 | INSWING ARTICULATING THRESHOLD SR
6 IACL4565 IAC4565FN IACLAA4565 IACAA4565FN ZAC4565RDS Q g
(o)
| @ﬁs e
* C) 4 - = D Z
g [2} : D % I OATE: 4,/27/17
3 : * s SCALE: N.T.S.
1 j_ i = owe. BY:  JK
] . [ [ . 1 ! 4.56" - . cHk. By:  LFS
| 4.56 i | 4,56 1 13 OUTSWING THRESHOLD 4.56 DRAWING NO.:
17 QUISWING THRESHOLD 12 OUTSWING THRESHOLD ZOB4565RDS 12 QUISWING THRESHOLD TX—4689
ZOBAS65FN 10814565 [MAX. DESIGN PRESSURE = £55 PSF | FOB4566 oeer 4 o 5

© 2017 R.W. BUILDING CONSULTANTS INC.



RA\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-888 Masonite FG VG GLAZED (Trilennium)\C - Drawings\TX-4689-92.dwg, 5.7

.»QC‘:‘??: \‘:\llz ui
” HEAD ANCHORS: Sarint o1 S
ZuZ 2X FRAMING #10 X 2-1/2" WOOD SCREW (PINE JAMB) SRt g i - o
O (BY OTHERS) #10 X 3" WOOD SCREW (1-PIECE JAMB) o iTi g5, &9
l:- a oz ! 5. A EO Sm g :‘;g <] W
320 M in i 5. .8 Zr
< = K 6" s LR o ¢gm o7
’ g\u".. §2§1- cg 'Elg'- e
i ' - 8 e &
T T I S . QS i E b 3 H38 akg
: SEE HINGE - T : e Mg is i 3P p>o ff
Ims‘/ DETAL * X s 88° g
o e : v QX2 .°%
g ©E T Eogf: 5y
5 - . 1. 8 298 g
JAMB ANCHORS: N s 88t 3%
. #10 X 2-1/2" WOOD SCREW (PINE/2-PIECE JAMB) P 8 § o2
o N #10 X 3' WOOD SCREW (1-PIECE JAMB) A 5 &
2 E K ¥
B b 14
EBQ — - g 8
SEE HINGE SEE STRIKE o
DETAIL 2 B B PLATE DETAIL |, «
N (TYP.) : | E%D
> Q. .
i < S
iy SE g |3
2 g S 3=
- ot ~
| 1 =0 i =
{slard > L1} % g
N 2 o &
SILL ANCHORS: 3 %
HINGE JAMB #10 X 2-1/2' PFH WOOD SCREW STRIKE JAMB 3 c
174" X 2-3/4" ELCO OR & &
FLOOR SUBSTRATE MATERIAL FRAME ANCHORING ITW CONCRETE SCREW
CONCRETE (MIN. 3000 PSl) X 2 &
WOOD (G >=0.42) o
O
\Qu 3 8
b4} 2
x
o =
#10X 2-1/2"FHW 0 Sid| |»
OX2AZTHWS =3B~ umpoir oo (5
STRIKE PLATE 5| 2
JAMB NOTES: N tlo| [&
THE PINE OR "Fusionframe” 1-PIECE JAMB MAY BE INSTALLED @ THE HEAD OR SIDE JAMB. Bl
THE FusjonFrome" 2-PIECE JAMB MAY BE INSTALLED @ THE S!DE JAMBS ONLY. STR'KE PLATE DETAIL E_’ g
CONCRETE ANCHOR NOTES: 25
1. Concrete anchor locations at the cormers may be adjusted fo maintain the min. :
edge distance to mortar joints. N
2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted fo #8 X 2-1/2" PEH WS N>
maintain the min. edge distance to mortar joints, additional concrete anchors / P #8 X 2-1/2" PFH WS S 18
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded. rn ha 5
3. Concrete anchor table: . é o || :. i ¢ =
T~ 4" X 4" H’NGE — 4" X 4u HINGE SCALE: N.T.S.
o A\Y \ owG. BY:  JK
mw A CHK. BY LFS
® " . 1" - i LU . .
1apcoN® | 1/ 1-3/ 1-1/2 4 HINGE DETAIL 1 HINGE DETAIL 2 ARG
ELCO TX—4689
e 1/4" 1-3/4" 1" 4"
ULTRACON SHEET 5 oF 5

© 2017 R.W. BUILDING CONSULTANTS ING.



